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E\L | < cCalculate the WORK done in the following situations:

E A force of 2 Newtons moves a _55] box 12 meters.
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@ A 2kg book falls to the ground from a height of 2 meters.
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Exl A force of 8 Ibs is required to hold a spring sfre’(ched 2 inches from its natural length.
How much work is done in stretching Hs-nﬁm-a-l-leng-l'h-fo 4 inches beyond its natural length.
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&2 Suppose that 4 J or work is needed to stretch a spring from its natural length of 10 em fo a @
— length of 12 em
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@ Hofv much work is needed to sfrefch the spring from 12 em to 15 em?
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@ How far beyond its nafuraﬁeng’rh will a force of 20 Newtons keep the spring stretched.
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ENGLISH.
EX '5 A cable with density 2 Ib/ft is used to lift 100 Ib bundle of shingles from the base of a building to
* the roof. Treating the shingles as a concentrated point mass, determine the work needed to hoist
the shingles up to the roof that is 20 feet tall. Y
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m What is the weight of a slice of the cable with length mﬁ
so! X TReAT SHINGISS + CABLE  SEPARATE.
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Compute the work done to lift the cable by itself to the roof?
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@ Compute the work done in lifting the shingles to the top of the roof, and
add this to the answer from part B.
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the water to a height of 2 meters above the top of the tank. The tank is shaped as
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EX 4 A tank if full of water. Set up an integral that represents the work required to pump
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